
SAP ABAP table CACS_S_OAWLDS {FOA: Worklist Definition in Assignment Scenario}

CACS_S_OAWLDS

MANDT [CLNT (3)]

OAWLDID [CHAR (4)]

OASCID [CHAR (4)]

OATYID [CHAR (4)]

OARUID [CHAR (4)]

OSELSTRUCT [CHAR (30)]

OSELMETH [NUMC (3)]

TSELSTRUCT [CHAR (30)]

TSELMETH [NUMC (3)]

PARSTRUCT [CHAR (30)]

PARMETH [NUMC (3)]

CTXTSTRUCT [CHAR (30)]

CTXTMETH [NUMC (3)]

T000

MANDT [CLNT (3)]

 CACS_S_OAWLDS-MANDT = T000-MANDT 

0..N

0..N

TCACS_OARU

MANDT [CLNT (3)]

OATYID [CHAR (4)]

OARUID [CHAR (4)]

 CACS_S_OAWLDS-OARUID = TCACS_OARU-OARUID 

0..N

0..N

TCACS_OASC

MANDT [CLNT (3)]

OASCID [CHAR (4)]

 CACS_S_OAWLDS-OASCID = TCACS_OASC-OASCID 

0..N

0..N
TCACS_OASPUIG

MANDT [CLNT (3)]

OATYID [CHAR (4)]

STRUCT [CHAR (30)]

TYP [CHAR (1)]

METH [NUMC (3)]

 CACS_S_OAWLDS-CTXTMETH = TCACS_OASPUIG-METH 

0..N0..N
 CACS_S_OAWLDS-OSELMETH = TCACS_OASPUIG-METH 

0..N0..N  CACS_S_OAWLDS-PARMETH = TCACS_OASPUIG-METH 
0..N

0..N  CACS_S_OAWLDS-TSELMETH = TCACS_OASPUIG-METH 0..N

0..N

TCACS_OASPUIS

MANDT [CLNT (3)]

OATYID [CHAR (4)]

STRUCT [CHAR (30)]

TYP [CHAR (1)]

 CACS_S_OAWLDS-CTXTSTRUCT = TCACS_OASPUIS-STRUCT 

0..N

0..N

 CACS_S_OAWLDS-OSELSTRUCT = TCACS_OASPUIS-STRUCT 

0..N

0..N

 CACS_S_OAWLDS-PARSTRUCT = TCACS_OASPUIS-STRUCT 
0..N

0..N

 CACS_S_OAWLDS-TSELSTRUCT = TCACS_OASPUIS-STRUCT 0..N
0..N

TCACS_OATY

MANDT [CLNT (3)]

OATYID [CHAR (4)]

 CACS_S_OAWLDS-OATYID = TCACS_OATY-OATYID 

0..N

0..N

TCACS_OAWLD

MANDT [CLNT (3)]

OAWLDID [CHAR (4)]

 CACS_S_OAWLDS-OAWLDID = TCACS_OAWLD-OAWLDID 

0..N

0..N


